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(2)

(d) Coffee and tea producing areas
Fgal @ 9 IARF 89

(e) Chandigarh and Calicut
qUEhTg WS Ficiide
() New Mangalore and Tuticorin ports
= e w qfeia seee
(99 Kanha and Ranthambore
HE T R
(h) Areas of black soil
welt dt #1 @

() Nagarjuna Sagar and Tungabhadra
projects

() Saffron and cardamom producing areas
WA T g IS 85

. Provide short account of the following :

10x4=40
Frffea =1 i R swqe Hift
(@) Evolution of the Himalayan rivers

ey 6t ARt =1 R

(b) Origin of Indian monsoon
YR A it Iefy

12Y—800/32 ( Continued )

(7)

(c) Distribution of the Mundas and
Santhals in Jharkhand

FREUE § Ut § G F oy
(d) Industrial development of Jharkhand
wrEve #§ fenfe R
* ok k
12Y—800/32
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(4)

(b) Agro-climatic regions of India
WA % FN-Say 2w

(c) Animal husbandry in India
IRd & ay-gre

(d) Impact of green revolution

wa =1 F 1vg

- Discuss the following : 10x4=40
frafafen A srem Hif
(a) Agro-based industries
F-amaria e
(b) Locational factors of industries
U F W ¥ F_E

(c) New industrial policy of India
IRa A 7§ Meifires Ay

(d) Major industrial clusters of India
W % @ e dwe

. Describe any two of the following : 20x2=40
frefofem # @ Rt 2t e Bt

(a) Migration streams in India and its
consequences

G | YgSH Ya1E 9 3% qRom

12Y—800/32 4 ( Continued )

(S5)

(b) Potential of industrial development in
Jharkhand

FREE 7 e e B gafyar

(c) Regional variation of urbanization in
India

TR & e i R A

. Answer any two of the following : 20x2=40

Frfofaa & & el @ & s A

(@) Give an account of population problems
of India.
R i SEE B wrens f = fifn)

(b) Discuss the problems of drought-prone
areas in India.

WRa F gEne &6t R et B Ree
LI R
(c) Discuss the deforestation and its

measures to control the resources of .
Jharkhand.

G & - @ 3@ A F e 6
= it

Discuss the salient features of the following :

10x4=40
frfafes & ger sfmem @ o @it -
(a) Important sources of irrigation
=g & gew 9
12Y—800/32 ( Turn Over )



